1. 
[image: image1.wmf]x

x

c

bx

ax

y

sin

15

2

-

+

+

=

   2.  
[image: image2.wmf]2

cos

12

2

a

xy

y

+

-

=

    
3.
[image: image3.wmf]15

cos

sin

2

+

+

=

x

х

x

z

    4. 
[image: image4.wmf]mk

k

m

k

S

56

4

6

26

-

-

-

=


5.  
[image: image5.wmf]y

y

x

2

2

2

2

+

+

-

      6. 
[image: image6.wmf]56

,

3

3

sin

2

x

x

+

    7. 
[image: image7.wmf]y

e

x

yx

x

x

-

÷

÷

ø

ö

ç

ç

è

æ

-

2

2

9

  
8. 
[image: image8.wmf](

)

÷

ø

ö

ç

è

æ

-

×

-

2

x

y

x

x

y

     
_1257931386.unknown

_1261570132.unknown

_1358204147.unknown

_1257931500.unknown

_1257931038.unknown

_1257931119.unknown

_1257931060.unknown

_1257930813.unknown

